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Last week we spoke about the establishment of the British parliament and its foundation and we also spoke about the succession of kings and monarchs. We talked about Edward I being the greatest legislator ever in the middle era and the provision of ministers at that time. He was the greatest reformer because in spirit he was a reformer. He was very smart and he realized that to have a peaceful state is to establish harmonious and good relations with the magnates he deserved a supreme status for a monarch was threatened and undermined by nobody.  at the same time he respected the magnates by having them participate in decision making and allowing them and listening to their counsel and acting according to that advise. This insures the stability inside England. He was a very strong and understanding monarch. 
Outside Attack:
However, this stability was soon undermined by outside attacks; the attack of The Flanders, Scotland, The Wales and France. France is claiming that Duchy that was controlled by the English King and his court as well as other pieces. Soon, the peaceful atmosphere turned to unrest by the outside attacks of The Flanders, and Scotland wanted to break any kind of relationship with England. So they raged against England. Because of the war, the English army needed to be financed. But the English army was in a crusade. Two English kings went to crusades; Richard Lion Heart, and Edward I, and soon England went on a state of chaos. The magnates were very angry because of the money they need to pay  to finance this army to defend England against its enemies. 
Edward II:

Soon Edward I died and he was replaced by his son Edward II. Edward II was very sentimental person. And he was totally a misfit as a monarch. He was the first English monarch who was not trained with the position of monarchy. His father, Edward I, objected to have him trained as a monarch. He wouldn't have him to participate with him in the issues of the state. Therefore, Edward II gave himself such hobbies as carpentry, patching, rowing, etc.  because of such hobbies, he was a misfit. And because he was a misfit, this created a great gap between him and his magnates. the upper-class did not like that. This gap between the king and his magnates grew larger and larger. The magnates are different parties, they were not one row. Because of this gap between the King and his magnates, the magnates created a revolt held by Earl of Lancaster. (Earl means Duke. The word earl is more English, the word duke is originally French but it was adopted by the English language). Notice that The Earl of Lancaster is also a royalist; a descendant of William the conqueror. So, that Earl of Lancaster lead the magnates and stood against the king and wanted to divorce him but they were defeated and Duke of Lancaster was captured by the King. But again another revolt was formed by the magnates who murdered the king and replaced him with his son Edward III. 
Edward III:
From the year 1300 (the fourteenth century) was designated by historians as the age of clarity because during this century the duties of the monarch and his magnates were defined. Not anymore was all the land owned by the king. Edward I issued many provisions. This stabilized the achievements and to issue the continuity of the reformers. Back to the earl of earl of Lancaster; he murdered the king and crowned his son Edward III in 1327. Edward III was very smart and sure. He understood the lesson that was given to his father and grandfather. So he made sure to improve his relations with his magnates which had its own influence on the social stability and peace inside England. During his time, what fortified his relation with the magnates? What are the causes that led to the improvement of the relation between the king and his magnates? The Hundred Years War that started in 1393-1493.
The Hundred Years War

 It lasted for one full century. However, this does not mean that there was a constant fighting between the two powers. There were interrupted times of peace. They did not sign a treaty that ended up the war. 

The causes of The Hundred Years War:
There are social and political reason. Edward III was smart and he understood the lesson that his ancestors and his father went through. He knew that the only way to ensure stability is to maintain a good relation with his magnates. Here, the hundred years war broke out because
A-  France that was ruled by Luis VI during that time, wanted to tread Gascony and Duchy which were under the English control. So they fought over Gascony.
B- Another reason behind the break out of The Hundred Years War is that when Scotland fought England. Scotland was supported by France. Scotland and France are traditional allies while England and France enemies.

When Edward III announced war against France the magnates were pleased. Here, his decision was to launch war against France inside France. All the hundred years War took place inside France because they fought over Gascony. This insured the relations Edward III and his magnates who saw a good opportunity in war to increase their fortune through ransom and ..as the war took place in France, so they could seize whatever they wanted.
Every time there is a war, there is expenses. How would they finance this war? during the fourteenth century, the trade of raw wool prospered and flourished to the extend that its revenue covered all the expenses of the war. Therefore, the English monarch did no need to ask the magnates for taxation to finance the war. The whole war was financed through the trade of wool because raw wool was very popular. Because they realized the importance of wool to other nations, they taxed it highly. They created a strong navy force. The English navy is better than the French navy. During the early phases of the French war it was a very successful decision inside and outside. Here, the English army defeated the French, and the French suffered a lot at the hands of the English army. The British army was leaded by the Black Prince; Edward, the eldest son of the King Edward III . He was called the Black Prince because he used to wear a black armor. He was very courageous. At his hands, the French were defeated with humiliation. At that time, things inside England were very stable and peaceful. 

What were the causes behind the French defeat? Because there were chaos inside France, even the magnates were divided into different coalitions. But this state did not last for long because soon the French king realized the points of weakness so he united his powers and soon the course of the war reversed for the sake of France and against England. At the end of the reign of Edward III, England was loosen because the Black Prince was killed by the French while he was fighting. Once they united their fronts they claimed all their lands and driven all the English forces out of France.  
Richard II:

Soon Edward III died and his eldest son was already dead in the battlefield. So his grandson, the son of the Black Prince, succeeded him. He was only ten or nine years old, which means that he was in a state of minority. So the magnates took over and they caused havoc inside England once he took over. Now they cannot fight to get money. They needed money for the defense of England . of course they do not want to impose taxation on themselves. So this time they issued two full taxes on the peasants. This caused uprising. The peasants were very aggressive and soon they broke out a revolution for the first time. This wrecked the stability and peace of England. This what the magnates did. Another thing they did was that they tried their best to elongate (lengthen) the years of minority of the king. Soon, when the king, Richard II, took over after the end of his minority, he was full of resentment and bitterness against the magnates who wanted to elongate his years of minority. So he took certain measures against the magnates. First, he imposed loans on them because of their corruption and because they wrecked the peace of England. Second, he forced them to purchase pardons for the offenses they committed during the reign of his father and grandfather. All these are measures to abate what the magnates did to him. This lead to bad relation between the monarch and the magnates. 

Henry IV:
When Duke of Lancaster (the strongest and richest duke ever) died, Richard II  disinherited his eldest son, Henry of Lancaster, and exiled him. As a reaction, Henry came back among his followers (notice that the nature of feudal England was military) claimed his inheritance and seized the throne and the king was murdered by Henry. Henry succeeded the English throne. (whenever the monarch is killed, the magnet put his son on the throne) but here, for the first time ever, Henry of Lancaster killed the king and replaced him with himself.  he took over and ascended the English throne. And he was named Henry IV by force. This paved the way for the civil war in England which is the War of Roses. He ruled England for 13 or 14 years but his period was a period of unrest and England was still threatened by Scotland and the raids of the French. But the most difficult challenge that Henry IV has ever faced was his son Henry who was over ambitious and impatient. Soon he renewed the Hundred Years War against France. This war helped to bring about a new unity between the king and his barons. When Henry V  took over in 1413, he renewed the war between France and England; a decision that he  took and resulted in a good relationship between him and the magnates. But unfortunately this good relationship with his magnates did not last for long because soon they were in a bad need of money. The wool  trade could no longer finance the war. The revenue of the wool trade decreased by 40%  (almost the half) during the fifteenth century. The remaining 60% was not enough to finance the war. Soon there were clashes regarding the financial issues. Due to this, he died at the age of 35; that was a shock to the whole nation.
Henry VI:
When Henry the V died, he left his son Henry VI who was only few months old. By the time he grew up, he was a graceful and religious person of saintly manners, but these manners do not make a powerful monarch. The monarch is usually an aggressive person. But here being religious made Henry VI a weak monarch, and chaos started inside England because they had a weak monarch who allowed his official to wreck the royal treasury. The monarch should be in equal distance with all his subjects. He shouldn't kept an equal distance between him and all the magnates. However, against what his ancestors did, he allied himself with one single fraction of the monarch held by Simon de la Pole; the Duke of Suffolk against the other. This is a mistake that lead to the state of declining wool trade, England entered a period of declining with no trade, not economy, empty treasury, etc. Here, Henry VI is failure as a monarch because of his weakness, he gave way to Duke of York, Richard. He appeared in the English scene and Henry VI was imposed. The Duke of York started to claim his rights to the English throne because of the weakness of the king. He claimed that he had a better title to the English throne because he was a descendant of Edward III. This gave him the right to claim the throne of England and there were fightings until his son Edward IV divorced the king and became the king of England (Edward of York, not Edward of Lancaster). The York's claimed their rights to the English throne. he started to claim rights and his son Edward IV completed the task and became the king. Here, he started a civil war, not between England and France. It was between English magnates York and Lancaster started 1455 and ended 1487 and it was called The War of Roses. Every single royal family, until now, have special signs and uniforms with their initials and a special symbol. The armies of the royal families also has these symbols on them. The house of Lancaster had a red rose as their symbol and the York had a white rose. therefore, the war between these two houses was called the war of Roses.   
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